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n15U52n1A Tuple Tun1w Python

* Tun1w Python N15UsEN1A Tuple Wuanansavilavaneds sUwuvuiuguveiumeau¥nves Tuple
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 thistuple = ("apple"”, "banana", "cherry")
print(thistuple)

('apple', 'banana’', 'cherry')
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e thistuple =
("apple"”, "banana", "cherry", "apple", "cherry")
print(thistuple)

('apple', 'banana’', ‘cherry', 'apple', 'cherry')




N15113UIUYaYalu Tuple a2e len() function:

 thistuple = ("apple"”, "banana", "cherry")
print(len(thistuple))
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e thistuple = ("apple",)
print(type(thistuple))

#5uilily tuple Juuamuys string sssum
thistuple = ("apple")
print(type(thistuple))

<class "tuple’>

<class 'str'>
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Uszinndayanaunsanulu Tuple a

("apple", "banana", "cherry")
(1, 5, 7, 9, 3)
(True, False, False)

("abc", 34, True, 40, "male")



n1stdnnevayaly Tuple 6T index

 thistuple = ("apple"”, "banana", "cherry")
print(thistuple[1])
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 thistuple = ("apple"”, "banana", "cherry")

print(thistuple[-1])
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N1SNNUAYIINITAIVBYANIU index

 thistuple = ("apple", "banana", "cherry", "orange", "kiwi", "melon", "mango")
print(thistuple[2:5])

('cherry', 'orange', 'kiwi')
 thistuple = ("apple", "banana", "cherry", "orange", "kiwi", "melon", "mango")
print(thistuple[:4])

("apple', 'banana’, ‘'cherry', 'orange')

 thistuple = ("apple", "banana", "cherry", "orange", "kiwi", "melon", "mango")
print(thistuple[2:])
('cherry', 'orange', 'kiwi', 'melon’', 'mango’)

 thistuple = ("apple", "banana", "cherry", "orange", "kiwi", "melon", "mango")
print(thistuple[-4:-1])

('orange', 'kiwi', 'melon’)
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 thistuple = ("apple"”, "banana", "cherry")
if "apple” in thistuple:
print("Yes, 'apple' is in the fruits tuple")

Yes, 'apple’ is in the fruits tuple
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("apple"”, "banana", "cherry")
list(x)
] = "kiwi"

tuple(y)
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print(x)

("apple', 'kiwi', 'cherry')
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 thistuple = ("apple"”, "banana", "cherry")

thistuple.append("orange") # This will raise an
error

print(thistuple)

AttributeError ERROR

in <module>()
thistuple = ("apple”,"banana”,"cherry")
thistuple.append(“orange”)# This will raise an error '
print(thistuple)

AttributeError: "tuple' object has no attribute 'append’

SEARCH STACK OVERFLOW
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* thistuple = ("apple”, "banana”, "cherry"”)
y = list(thistuple)
y.append("orange")
thistuple = tuple(y)

print(thistuple)

(Lapple', ‘banana’, ‘cherry', 'orange')




N19 Unpacking a Tuple

* fruits = ("apple”, "banana”, "cherry")

(green, yellow, red) = fruits

orint(green) apple
orint(yellow) banana
orint(red) cherry




n13Asvayalu Tuple H1U Loop for

 thistuple = ("apple"”, "banana", "cherry")
for x in thistuple:
print(x)

e thistuple = ("apple"”, "banana", "cherry")
for 1 in range(len(thistuple)):
print(thistuple[i])
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tuple3 = tuplel + tuple2
print(tuple3)
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* fruits = ("apple”, "banana", "cherry")
mytuple = fruits * 2

print(mytuple)

('apple', 'banana’, 'cherry', 'apple', 'banana’, ‘'cherry’)
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